






    



       PCO/CT/2005 / MC21         

M.Com. DEGREE EXAMINATION, APRIL 2016.

I YEAR — II SEMESTER

Paper V –– ADVANCED COST ACCOUNTING
Time : 3 hours
              
Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.
1. Define Cost Accounting.

2. Find out the Net works cost:

                                                                              `
            Gross works cost                                   25,000

            Opening stock of work-in-progress        5,000

            Closing stock of work-in-progress         7,000

3. What is process costing?

4. A company produces 300 units of product R, 200 units of product ‘S’ and 100 units of product J from a single process. The costs upto the point of separation amount to `30,000. You are required to apportion the joint cost of production among the products, using the average unit cost method.

5. Define job costing.

6. Calculate the amount of cash received:

         Work certified    :          ` 4,00,000

         Cash received     :          80% of work certified.

7. What is ‘Operating Costing’?

8. Calculate total kilometers from the following:

         Number of buses  



: 4

         Number of days operated in a month: 30

         Distance traveled



: 100 km (one side) 

         Number of trips per day


: 2

9. What is cost control?

10.  What is cost audit?

11. Find out the quotation for job No. 1001:

            Cost of sales            :      ` 15,000

            Profit                       :       20% of sales.

12. Calculate equivalent production:

    Opening stock 5,000 units 60% complete. Units brought into the process 25,000. Transferred to      

    next process 20,000 completed units. Closing stock 10,000 units 40% complete.
SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions.
13. Calculate the profits as per cost accounts from the following:

                                                                                     `
        Profits as per financial accounts                       35,000

        Dividend received on investments                      5,200

        Loss on sale of buildings                                    4,000

14. Find out equivalent production, cost per unit of equivalent production and prepare process account from the following:
                  Units put into process                2,500

                  Units completed                         2,000

                 Work-in-progress at the end 500 units

                        Process costs                          `
                        Materials                            22,500

                        Labour                                 6,750

                        Overheads                           2,250

            Work-in-progress is completed 50% as to materials, labour and overheads.

15. The following data is available in respect of Job No. 912: Direct Materials: ` 17,000; Wages 160 hours at ` 50 per hour, Variable over heads incurred for all jobs ` 80,000 for 2000 Labour hours. Fixed overheads are absorbed at ` 20 per hour:
           
Find the profit or loss from the job if the job is billed for ` 40,000.

16. From the following data calculate the cost per mile of a bus.
                                                                                           `
               Value of the vehicle                                     2,00,000

               Garage rent per year                                         2,400  

               Insurance charge per year                                   800

               Road tax per year                                             1,000

               Driver’s wage per month                                 1,200

               Cost of diesel per litre                                          20   

              Tyre maintenance per mile                                 4.00

              Estimated life                                             1,50,000 miles

              Miles run per litre of diesel                              10 miles  

              Estimated annual mileage                               6,000 units

17. Differentiate between cost control and cost reduction.

18. Ramani & Co. produces a product through two processes ‘A’ and ‘B’.  Prepare the process accounts from the following details relating to March 2016.

                                                       Process                          Process

                                                            A                                   B

Material                                          45,000                           15,000

Labour                                            60,000                           25,000

Chargeable expenses                        5,000                           10,000

The overheads amounting to `17, 000 are to be apportioned on the basis of labour.

19. The accounts of a machine manufacturing company disclose the following information 

for six months ending 31st December 2014.

                                                                          `
        Material used                                      1,50,000

        Direct wages                                       1,20,000

        Factory overheads                                 30,000

        Administrative expenses                       15,000

Prepare cost sheet for the half year and calculate the price which the company should quote for the manufacture of a machine requiring materials valued at `1,250 and expenditure in productive wages ` 750, so that the price might yield a profit of 20% on the selling price.
SECTION C — (2 × 15 = 30 marks)

Answer any TWO questions.
20. A certain product passes through three processes before it is completed. The output of each process is charged to the next process at a price calculated to give a profit of 20% on transfer price (i.e. 25% on cost price). The output of process III is charged to finished stock account on a similar basis. There was no work-in-progress at the beginning of the year and overheads have been ignored. Stock in each process has been valued at prime cost of the process. The following data are obtained at the end of 31st December 2015:

                                           Process I            Process II      Process III      Finished Stock

                                               `                         `                      `                     `
     Direct material               4,000                 6,000               2,000                  ----

     Direct wages                  6,000                 4,000               8,000                  ----

     Stock on 31st December 2,000                 4,000               6,000                 3,000

     Sales during the year       -----                  -----                 -----                  36,000

           From the above information prepare

(a) Process cost accounts showing the profit element at each stage;

(b) Actual realized profits; and 

(c) Stock valuation as would appear in the balance sheet.

From the following particulars prepare a statement showing the labour cost per man-day 

21. You are required to prepare Contract Account showing the profit on the contract on 30th April 2014, from the following particulars:-
                                                                                                       `
        Contract Price                                                                 1,00,000

        Materials sent to site                                                          32,250

        Labour engaged on site                                                      27,400

        Plant installed at site                                                            5,650

        Work certified                                                                    71,500

        Cash received from contractee                                           65,000

        Value of Plant as on 30th April 2014                                    4,100

        Cost of work done, but not certified                                     1,700

        Direct Expenditure                                                                1,200 

       Cost of Establishment                                                            1,625

       Wages outstanding at 30th April 2014                                      900

       Material in hand on 30th April 2014                                         700

       Direct Expenses outstanding on 30th April 2014                      100

       Materials returned to store                                                        200

22. Mr. Natesan owns a fleet of taxis and the following information is available from the records maintained by him:

               Number of taxis                                          10

               Cost of each taxi                                ` 20,000

               Salary of manager                              ` 600

               Salary of accountant                          ` 500

               Salary of cleaner                                ` 200

               Salary of mechanic                            ` 400

               Garage rent                                        ` 600

               Insurance premium                                  5% per annum

               Annual tax                                         ` 600 per taxi

               Driver’s salary                                   ` 200 p.m. per taxi

               Annual repair                                     ` 1,000 per taxi

     Total life of a taxi is about 2,00,000 km. A taxi runs in all 3,000 km. in a month of which 30% it 
   runs empty. Petrol consumption is one litre for 10 km. @ ` 1.80 per litre. Oil and other sundries are         

   ` 5.00 per 100 km. Calculate the cost of running a taxi per km.

23. What are the advantages of cost audit?
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